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ATOMIC STRUCTURE

Solved Problems

1. Calculate the number of protons , neutrons

and electrons in .ggBr


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FlkNx9Lx3U0h

° Watch Video Solution

2. The number of electrons , protons and
neutrons in a species are equal to 18, 16 and
16 respectively . Assign the proper symbol to

the species .

o Watch Video Solution

3. The Vividh Bharati station of All India Radio ,

Delhi , broadcasts on a frequency of 1,368 kHz


https://dl.doubtnut.com/l/_FlkNx9Lx3U0h
https://dl.doubtnut.com/l/_rhhlsunoU4LV
https://dl.doubtnut.com/l/_V5Gg26zX2UNu

(kilo hertz) . Calculate the wavelength of the
electromagnetic  radiation  emitted by
transitter . Which part of the electromagnetic

spectrum does it belong to ?

° Watch Video Solution

4. The wavelength range of the visible
spectrum extends from violet (400 nm) to red
(750nm). Express these wavelengths in

frequencies (Hz) . (Inm = 10 m)

° Watch Video Solution



https://dl.doubtnut.com/l/_V5Gg26zX2UNu
https://dl.doubtnut.com/l/_DeyUzMj8xqZd

5. Calculate: (a) wavenumber and (b) frequency

of yellow radiation having wavelength 5000A

° Watch Video Solution

6. Calculate energy of one mole of photons of

radiation whose frequency is 5 x 10'* Hz.

o Watch Video Solution



https://dl.doubtnut.com/l/_DeyUzMj8xqZd
https://dl.doubtnut.com/l/_s83GHnCUhAum
https://dl.doubtnut.com/l/_Qu6tDUF4SUfc

7. A 100 watt bulb emits monochromatic light
of wavelength 400 nm . Calculate the number

of photons emitted per second by the bulb.

o Watch Video Solution

8. When electromagnetic radiations of wave
length 300nm falls on the surface of sodium,
electrons are emitted with a kinetic energy of
1.68 x 10°Jmol ! . What is the minimum

energy needed to remove an electron from


https://dl.doubtnut.com/l/_JuKpmAofeep8
https://dl.doubtnut.com/l/_ITdQeEtHwaYy

sodium ? What is the maximum wavelength

that will cause a photoelectron to be emitted

?

o Watch Video Solution

9. The threshold frequency vy for a metal is
7.0 x 101571 . calculate the kinetic energy of
an electron emitted when radiation of

frequency v = 1.0 x 10"°s ! hits the metal .

° Watch Video Solution



https://dl.doubtnut.com/l/_ITdQeEtHwaYy
https://dl.doubtnut.com/l/_mUYhWUaLmexX
https://dl.doubtnut.com/l/_0Gy35UHEa8XJ

10. What are the frequency and wavelength of
a photon emitted during a transition from n =
5 state to the n = 2 state in the hydrogen

atom?

o Watch Video Solution

1. Calculate the energy associated with the
first orbit of He™ . What is the radius of this

orbit?

o Watch Video Solution



https://dl.doubtnut.com/l/_0Gy35UHEa8XJ
https://dl.doubtnut.com/l/_lJmiOttiYZhv

12. What will be the wavelength of a ball of

mass 0.1 kg moving with a velocity of 10ms ~*

?

o Watch Video Solution

13. The mass of an electron is 9.1 x 10 3lkg .
If its KE . Is 3.0 x 10°%J , calculate its

wavelength .

o Watch Video Solution



https://dl.doubtnut.com/l/_2GN33kNFyGy5
https://dl.doubtnut.com/l/_9OR27JpXuZ7e
https://dl.doubtnut.com/l/_Cu3rSc1tWE5Q

14. Calculate the mass of a photon with

wavelength 3.6 A,

° Watch Video Solution

15. A microscope using suitable photons is
employed to locate an electron in an atom
within a distance of 01 A . What is the
uncertainty involved in the measurement of its

velocity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Cu3rSc1tWE5Q
https://dl.doubtnut.com/l/_BezGnhFX0AeW

16. A golf ball has a mass of 40g , and a speed
of 45m /s . If the speed can be measured
within accuracy of 2% , «calculate the

uncertainty in the position.

° Watch Video Solution

17. What is the total number of orbitals
present in the shell with the principal

quantum number, n =3

° Watch Video Solution



https://dl.doubtnut.com/l/_D4xY3B5fGqZe
https://dl.doubtnut.com/l/_g2NseL1n0UGx

18. Using s, p, d , f notations , describe the
orbital with the following quantum numbers .

n=2,1=1

o Watch Video Solution

Important Questions

1. What is the charge , mass and charge to

mass ratio of an electron ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_g2NseL1n0UGx
https://dl.doubtnut.com/l/_apYGZjYpnOWm
https://dl.doubtnut.com/l/_pcZQ7fPKGizb

2. Calculate the charge of one mole of

electrons .

o Watch Video Solution

3. Calculate the mass of one mole of

electrons?

° Watch Video Solution



https://dl.doubtnut.com/l/_pcZQ7fPKGizb
https://dl.doubtnut.com/l/_KKkiZrVLB8m0
https://dl.doubtnut.com/l/_8gCw3k9mFzet

4. How many neutrons and electrons are

present in the nuclei of

13 16 24 o6 88

o Watch Video Solution

5. What is a black body ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnPhHSUIGKEu
https://dl.doubtnut.com/l/_YH5wSxl1mGCA

6. When an electron is transferred in hydrogen
atom from n =4 orbit to n = 5 orbit to which

spectral series does this belong ?

o Watch Video Solution

7. What are the values of principal quantum
number (n) and azimuthal quantum number (l)

for a 3d electron ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Yb74n6IOb4aY
https://dl.doubtnut.com/l/_g7R0sJJrDt4N
https://dl.doubtnut.com/l/_672LpMW0qMpg

8. What is the frequency of radiation of

wavelenth 600 nm ?

o Watch Video Solution

9. Explain Pauli's Exclusion principle with an

example.

o Watch Video Solution

10. What is Aufbau principle ?

| & I


https://dl.doubtnut.com/l/_672LpMW0qMpg
https://dl.doubtnut.com/l/_DDYdavgYwLpd
https://dl.doubtnut.com/l/_hhbGZ3Wl7LLC

| ¥ Watch Video Solution

11. What is Hund's rule ?

o Watch Video Solution

12. Explain Heisenberg's uncertainty principle .

o Watch Video Solution



https://dl.doubtnut.com/l/_hhbGZ3Wl7LLC
https://dl.doubtnut.com/l/_ZwQaUWRZlPBV
https://dl.doubtnut.com/l/_QAP2MNW0Usl5

13. What is the wavelength of an electron

moving with a velocity of 2.0 x 10'ms ~'?

o Watch Video Solution

14. How many electrons in an atom may have

n =4 and m, = —1—5?

o Watch Video Solution



https://dl.doubtnut.com/l/_OhxIR6y1Yx6F
https://dl.doubtnut.com/l/_NEj11aQFLlVh

15. Explain the significance of Heisenberg's

uncertainty principle..

° Watch Video Solution

16. Show that the circumfernce of the Bohr
orbit for the hydrogen atom is an integral
multiple of the de-Broglie wavelength as-
sociated with the electron revolving around

the orbit .

° Watch Video Solution



https://dl.doubtnut.com/l/_dlN9RE3uxEVr
https://dl.doubtnut.com/l/_oECQfQaNviKB

17. What are the main features of quantum

mechanical model of an atom?

o Watch Video Solution

18. What is a nodal plane ? How many nodal

plance are possible for 2p and 3d - orbitals ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oECQfQaNviKB
https://dl.doubtnut.com/l/_ryIa9WCoRprH
https://dl.doubtnut.com/l/_W4Ln4ePQ7y4U

19. How are the quantum numbers n , 1 m; for

hydrogen atom are obtained ?

o Watch Video Solution

20. Explain the difference between emission

and absorpation spectra.

o Watch Video Solution



https://dl.doubtnut.com/l/_1REdT2RkXFbo
https://dl.doubtnut.com/l/_th6kXzSSHSrj

21. Explain photoelectric effect on the basis of

Einstein theory.

o Watch Video Solution

22. Explain Rutherford 's nuclear of an atom .

What are its drawbacks ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZMaipzyYD5EV
https://dl.doubtnut.com/l/_znPvEqhvVkWu

23. What are the postulates of Bohr's model of
hydrogen atom ? Discuss the importance of
this model to explain various series of line

spectra in hydrogen atom.

° Watch Video Solution

24. Explain the success of Bohr's theory for

hydrogen atom.

o Watch Video Solution



https://dl.doubtnut.com/l/_JJlrWvOwiSGS
https://dl.doubtnut.com/l/_GuvntJA08ZHu
https://dl.doubtnut.com/l/_uHpAusJOMsVH

25. What are the evidence in favour of dual

behaviour of electron?

o Watch Video Solution

26. How are the quantum numbers n, 1 m; for

hydrogen atom are obtained ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uHpAusJOMsVH
https://dl.doubtnut.com/l/_3zBbVYELxJWy

27. Define atomic orbital . Explain the shapes
of s, p and d orbitals with the help of

diagrams.

o Watch Video Solution

28. lllustrate the reaasons for the stability of

completey filled and half -filled subshells .

o Watch Video Solution

Very Short Answer Questions


https://dl.doubtnut.com/l/_s04365zO0F3V
https://dl.doubtnut.com/l/_hK04VdGhhxxr

1. What is the charge , mass and charge to

mass ratio of an electron ?

° Watch Video Solution

2. Calculate the charge of one mole of

electrons .

o Watch Video Solution



https://dl.doubtnut.com/l/_OfZaXVQ1E7Xi
https://dl.doubtnut.com/l/_pWkz2s1ARp2H

3. Calculate the mass of one mole of

electrons?

o Watch Video Solution

4. Calculate the charge of one mole of

protons.

o Watch Video Solution



https://dl.doubtnut.com/l/_r0e8vUZ2nTdS
https://dl.doubtnut.com/l/_bnAdqxtQBQzK

5. Calculate the charge of one mole of

neutrons.

o Watch Video Solution

6. How many neutrons and electrons are

present in the nuclei of

13 16 24 56 88

o Watch Video Solution



https://dl.doubtnut.com/l/_ee00Mz5fHrDU
https://dl.doubtnut.com/l/_L6eUeMn1Qml8

7.What is a black body ?

o Watch Video Solution

8. Which part of electromagnetic spectrum

does Balmer series belong ?

° Watch Video Solution

9. What is an atomic orbital ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8zaAmX2sd9d1
https://dl.doubtnut.com/l/_v83hYISSo7dZ
https://dl.doubtnut.com/l/_Upu69R93x0jk

10. When an electron is transferred in
hydrogen atom from n = 4 orbit to n = 5 orbit

to which spectral series does this belong ?

° Watch Video Solution

1. How many P - electrons are present in

sulphur atom ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Upu69R93x0jk
https://dl.doubtnut.com/l/_my0BhdAi2WVQ
https://dl.doubtnut.com/l/_sNIfawvRSVIP
https://dl.doubtnut.com/l/_VjIAK2M5X6Jm

12. What are the values of principal quantum
number (n) and azimuthal quantum number (l)

for a 3d electron ?

o Watch Video Solution

13. What is the complete symbol for the atom
with the given atomic number (Z) and atomic
mass (A) ?

Z=4,A=9

° Watch Video Solution



https://dl.doubtnut.com/l/_VjIAK2M5X6Jm
https://dl.doubtnut.com/l/_xalhCXX517qI

14. What is the complete symbol for the atom
with the given atomic number (Z) and atomic
mass (A) ?

Z=17,A=35

o Watch Video Solution

15. What is the complete symbol for the atom
with the given atomic number (Z) and atomic
mass (A) ?

Z=92,A=233

| & I


https://dl.doubtnut.com/l/_C20hEced9AoZ
https://dl.doubtnut.com/l/_uEo7I47qGjuG

| ¥ Watch Video Solution

16. Draw the shape of d,: orbital .

o Watch Video Solution

17. Draw the shape of d 2 _ 2 orbital .

o Watch Video Solution



https://dl.doubtnut.com/l/_uEo7I47qGjuG
https://dl.doubtnut.com/l/_tVkicdmVfX02
https://dl.doubtnut.com/l/_mNd5XYO2Z8cM

18. What is the frequency of radiation of

wavelenth 600 nm ?

o Watch Video Solution

19. What is Zeeman effect ?

o Watch Video Solution

20. What is Stark effect ?

o Watch Video Solution



https://dl.doubtnut.com/l/_hxX6q8nfqQXg
https://dl.doubtnut.com/l/_ImpwXmHthsFm
https://dl.doubtnut.com/l/_GduBhI1KtVO1

21. To which element does the following
electronic configuration correspond ?

1522522p°3523p!

° Watch Video Solution

22. To which element does the following
electronic configuration correspond ?

1522522p%3523p"

° Watch Video Solution



https://dl.doubtnut.com/l/_GduBhI1KtVO1
https://dl.doubtnut.com/l/_4DCFYnkaVlnb
https://dl.doubtnut.com/l/_R65wamvM59H3

23. To which element does the following
electronic configuration correspond ?

15%2s%2p°

° Watch Video Solution

24. To which element does the following
electronic configuration correspond ?

152252 2p*

° Watch Video Solution



https://dl.doubtnut.com/l/_R65wamvM59H3
https://dl.doubtnut.com/l/_wk6FwlrBBlLk
https://dl.doubtnut.com/l/_pScx2XMOXJUX

25. Electrons are emitted with zero velocity
from a metal surface when it is exposed to
radiation of wavelength 4000A . What is the

threshold frequency (vg) ?

° Watch Video Solution

26. State and explain Pauli's exclusion

principle.

o Watch Video Solution



https://dl.doubtnut.com/l/_1Snr2KgLZvBq
https://dl.doubtnut.com/l/_pM84Ja6gzIAN
https://dl.doubtnut.com/l/_CuQxCPhxv1uC

27. What is Aufbau principle ?

o Watch Video Solution

28. What is Hund's rule ?

o Watch Video Solution

29. Explain Heisenberg's uncertainty principle .

o Watch Video Solution



https://dl.doubtnut.com/l/_CuQxCPhxv1uC
https://dl.doubtnut.com/l/_59XsadJIU71p
https://dl.doubtnut.com/l/_WKbTtFKZ53iG
https://dl.doubtnut.com/l/_LEFOY6ViH2Id

30. What is the wavelength of an electron

moving with a velocity of 2.0 x 10'ms ~'?

o Watch Video Solution

31. An atomic orbital has n = 2 , what are the

possible valuse of [ and m; ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LEFOY6ViH2Id
https://dl.doubtnut.com/l/_Nui8OFMPtsaU

32. Which of the following orbitals are

possible ? (2s,1p,3f,2p)

° Watch Video Solution

33. The static electric charge on the oil drop is
—3.2044 x 10 C . How many electrons are

present on it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fQ1nWjcpunaQ
https://dl.doubtnut.com/l/_oCpsqtCsGDZy

34. Arrange the following type of radiation in
increasing order of frequency :
(@) X- rays (b) visible radiation (c) microwave

radiation and (d) radiation from radio waves .

° Watch Video Solution

35. How many electrons in an atom may have

n =4 and m, = —1—5?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYvFv93ZHns3
https://dl.doubtnut.com/l/_UShlLmJYQvBv
https://dl.doubtnut.com/l/_zMDgCGza3rce

36. How many sub-shells are associated with n

=57

o Watch Video Solution

37. Explain the particle nature of

electromagnetic radiations .

o Watch Video Solution



https://dl.doubtnut.com/l/_zMDgCGza3rce
https://dl.doubtnut.com/l/_P3HWz4xq9SEk

38. Explain the significance of Heisenberg's

uncertainty principle .

o Watch Video Solution

39. What series of lines are observed in

hydrogen spectra ?

o Watch Video Solution

Short Answer Questions


https://dl.doubtnut.com/l/_xPlCdcHrHsj1
https://dl.doubtnut.com/l/_aG4y6afRHWZT
https://dl.doubtnut.com/l/_2A48Rf4ejtqk

1. What is the wavelength of light emitted
when the electron in a hydrogen atom
undergoes transition from an energy level

with n =5 to an energy level withn=3?

° Watch Video Solution

2. An atom of an element contains 29
electrons ans 35 neutrons . Deduce (i) the
number of protons and (ii) the electromic

configuration of the element .

l ° Watch Video Solution


https://dl.doubtnut.com/l/_2A48Rf4ejtqk
https://dl.doubtnut.com/l/_ENTXpMidYGwR

3. Explain giving reasons , which of the

following sets of quantum numbers are not

possible .
1
a)n:0,l:O,ml:0,m3: +§
1
byn=1,1=0,m; =0, m, = -3
1
An=11=1,m; =0, m, = +§
1
d)n:2,l:1,ml:O,m3— E
1
e)n:3,l:3,ml: —3,m8— +§
1
Ain=3l=1,m; =0, m, = +§

° Watch Video Solution



https://dl.doubtnut.com/l/_ENTXpMidYGwR
https://dl.doubtnut.com/l/_QYZQ4H8hNBy7

4. Show that the circumfernce of the Bohr
orbit for the hydrogen atom is an integral
multiple of the de-Broglie wavelength as-
sociated with the electron revolving around

the orbit .

° Watch Video Solution

5. The longest wavelength doublet absorption

transition is observed at 589.0 ans 589.6nm .


https://dl.doubtnut.com/l/_QYZQ4H8hNBy7
https://dl.doubtnut.com/l/_UGLFk9p9Yj7X
https://dl.doubtnut.com/l/_2CmHjBnq48Bd

Calculate the frequency of each transition and

energy difference between two excited states .

° Watch Video Solution

6. What are the main features of quantum

mechanical model of an atom?

o Watch Video Solution

7. What is a nodal plane ? How many nodal

plance are possible for 2p and 3d - orbitals ?


https://dl.doubtnut.com/l/_2CmHjBnq48Bd
https://dl.doubtnut.com/l/_XasT7rxwXCa7
https://dl.doubtnut.com/l/_pYPxms2OEuJj

° Watch Video Solution

8. The Lyman series occurs between 91.2 nm
and 1216 nm , the Balmer series occurs
between 364.7 nm and 656.5 nm and the
Paschen series occurs between 820.6 nm and
1876 nm, Identify the spectral regions to which

these wavelengths correspond .

o Watch Video Solution



https://dl.doubtnut.com/l/_pYPxms2OEuJj
https://dl.doubtnut.com/l/_P9AdKDWSygol

9. How are the quantum numbers n , 1 m; for

hydrogen atom are obtained ?

° Watch Video Solution

10. A line in Lyman series of hydrogen atom
has a wavelength of 1.03 x 10~ "m . What is

the initial energy level of the electron ?

° Watch Video Solution



https://dl.doubtnut.com/l/_iwI2hzJhkzF5
https://dl.doubtnut.com/l/_wNrmJTZK4V27

1. If the position of the electon is meaured
within an accuracy of £=0.002 nm , calculate
the uncertainty in the momentum of the

electron .

° Watch Video Solution

12. If the velocity of the electron s
1.6 x 10°ms ! , calculate the de-Broglie

wavelength associated with this electron .

° Watch Video Solution



https://dl.doubtnut.com/l/_wtrR1m6hshvC
https://dl.doubtnut.com/l/_3TY9ykjSCE58

13. Explain the difference between emission

and absorpation spectra.

o Watch Video Solution

14. The quantum numbers of electrons are
given below. Arrange them in order of
increasing energies . Do any of these
combinations have same energy ?
aan=4l=2m = —2,m, = +1/2

byn=3,1=2,m = —1,m,= —1/2


https://dl.doubtnut.com/l/_3TY9ykjSCE58
https://dl.doubtnut.com/l/_gLrYc9G64TTd
https://dl.doubtnut.com/l/_Tb3L5QCyVEZh

aon=4,l=1,m; =0,m;, = +1/2

dn=3,l=1,m = —1,m;,= —1/2

° Watch Video Solution

15. The quantum numbers of electrons are
given below. Arrange them in order of
increasing energies . Do any of these
combinations have same energy ?
an=41l=2m = —2,m;, = +1/2

byn=3,1=2,m = —1,m, = —1/2


https://dl.doubtnut.com/l/_Tb3L5QCyVEZh
https://dl.doubtnut.com/l/_fY0eO7ujVR86

aon=4,l=1,m; =0,m;, = +1/2

dn=3,l=1,m = —1,m;,= —1/2

° Watch Video Solution

16. The quantum numbers of electrons are
given below. Arrange them in order of
increasing energies . Do any of these
combinations have same energy ?
an=41l=2m = —2,m;, = +1/2

byn=3,1=2,m = —1,m, = —1/2


https://dl.doubtnut.com/l/_fY0eO7ujVR86
https://dl.doubtnut.com/l/_pRE2eBCPFWep

aon=4,l=1,m; =0,m;, = +1/2

dn=3,l=1,m = —1,m;,= —1/2

° Watch Video Solution

17. The quantum numbers of six electrons are
given below. Arrange them in order of
increasing energies. Do any of these

combination have same energy.

. n=41=2 m= -2 my= —1/2
2. n=31=2 m=1 ms = +1/2
3. n=41=1 m =0 m, = +1/2
4. n=31=2 m= -2 my= —1/2
5. n=3 l=1 m= -1 my,= +1/2
6.

n=41=1 m =0 my, = +1/2


https://dl.doubtnut.com/l/_pRE2eBCPFWep
https://dl.doubtnut.com/l/_EbKarb7DLwc4

o Watch Video Solution

18. The work function for Cesium atom is 1.9 eV
. Calculate the threshold frequency of the
radiation . If the Cesium element is irradiated
with a wavelength of 500 nm , calculate the

kinetic energy of the ejected photoelectron .

o Watch Video Solution



https://dl.doubtnut.com/l/_EbKarb7DLwc4
https://dl.doubtnut.com/l/_VFpp7Msjcm7U

19. Calculate the wavelength for the emission
transition if it starts from the orbit having
radius 1.3225 nm and ends at 211.6 pm . Name
the series to which this transition belongs and

the region of the spectrum.

o Watch Video Solution

20. What is the difference between an orbit

and orbital ?

° Watch Video Solution



https://dl.doubtnut.com/l/_c37TUflujzIK
https://dl.doubtnut.com/l/_H0AXVPcRfGfE

21. Explain photoelectric effect on the basis of

Einstein theory.

o Watch Video Solution

Long Answer Questions

1. Explain Rutherford 's nuclear of an atom .

What are its drawbacks ?

o Watch Video Solution



https://dl.doubtnut.com/l/_H0AXVPcRfGfE
https://dl.doubtnut.com/l/_Zuk9srvcBD2f
https://dl.doubtnut.com/l/_ozbgSanWMnxJ

2. Write Planck's equation .

o Watch Video Solution

3. What are the postulates of Bohr's model of
hydrogen atom ? Discuss the importance of
this model to explain various series of line

spectra in hydrogen atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_26ZuIrXpOqsv
https://dl.doubtnut.com/l/_l3eZMnc14YBm

4. Explain the success of Bohr's theory for

hydrogen atom.

° Watch Video Solution

5. What are the consequences that lead to the
development of quantum mechanical model of

an atom?

° Watch Video Solution



https://dl.doubtnut.com/l/_cQkZfAa4vHDS
https://dl.doubtnut.com/l/_rrIuirw99eIB

6. What are the main features of quantum

mechanical model of an atom?

o Watch Video Solution

7. What are the limitation of Bohr's model of

an atom?

o Watch Video Solution



https://dl.doubtnut.com/l/_fmBlfnum3NEx
https://dl.doubtnut.com/l/_j94WIGMn4Z62

8. What are the evidence in favour of dual

behaviour of electron?

o Watch Video Solution

9. How are the quantum numbers n , 1 m; for

hydrogen atom are obtained ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bZIvhoUcw9AT
https://dl.doubtnut.com/l/_N3mshjbbXQ95

10. Explain the dual behaviour of matter.
Discuss its significance to microscopic

particles like electrons.

o Watch Video Solution

11. What are characteristics of electromagnetic

waves ?

° Watch Video Solution



https://dl.doubtnut.com/l/_l0IlKRVnq1ur
https://dl.doubtnut.com/l/_qNHd9k4IJSD0

12. Define atomic orbital . Explain the shapes of

s, p and d orbitals with the help of diagrams.

° Watch Video Solution

13. Explain diagrammatically the boundary
surfaces for three 2p orbitals and five 3d

orbitals.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q9qslxvOr2TW
https://dl.doubtnut.com/l/_wECs7hXOpV6z

14. lllustrate the reaasons for the stability of

completey filled and half -filled subshells .

° Watch Video Solution

15. Explain emission and absorption spectra.
Discuss the general description of line spectra

in hydrogen atom .

° Watch Video Solution



https://dl.doubtnut.com/l/_sKmdQIRvrePq
https://dl.doubtnut.com/l/_5YBkflnEcHyr

